
Решение задач по теме 
«Перпендикуляр и 

наклонные» 

Задачи на готовых чертежах
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Дано: АВ- перпендикуляр,
АС и AD-наклонные,   АСВ=30°,
АС=16, ВD=6
Найти: АD

1

Ответ:  10



Дано: АВ- перпендикуляр,
АС и AD-наклонные,   АСВ=45°,
АС=        , ВD=6
Найти: АD
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Ответ:  10



Дано: АВ- перпендикуляр,
АС и AD-наклонные,   АСВ=60°,
АС= 4, ВD=
Найти: АD

А

В D
C

60° 

4

3

Ответ:  5



Дано: АВ- перпендикуляр к 
плоскости  , АС и AD-наклонные,
    АСВ= 30°,    АDB= 60°,  
   СВD= 90°, АВ=1
Найти: РCAD
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Ответ:  
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Дано: АВ- перпендикуляр к 
плоскости  , АС и AD-наклонные,
    АСВ=   АDB= 30°,  
   САD= 60°, RACD=
Найти: AB
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Ответ:  1,5


